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“No one can give better title to another than what he himself has Explain

the statement with its exceptions 08

Give definition of ‘delivery’ of goods and explain various modes of

delivery. 07
OR

Right of an unpaid seller 08

Implied conditions 07

what is meant by negotiable Instruments? Explain the characteristics of

Negotiable Instrument. (10)
Right of a Holder in due course (a§)
_ OR
promissory note (8)
Bill of Exchange @)
what is meant by crossing of cheque? who can cross a cheque? what is
the difference between general crossing are special crossing (10)
Maturity and days of grace under The N.I. Act. (05)
| OR
When is a party to a negotiable instrument said to be discharged (10)
Types of Endorsement (05)

. write Short Note under c.p.Act

Explain the term “Unfair Trade Practices. (07)
Who is ‘consumer’ under consumer protection Act ? which persons are
not included and which persons are included in the definition? Explain

with example. _ (08)
OR

Restrictive Trade Practices 07

District Forum (08)
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